
Guide complet sur l'examen et la
certification VMware Cloud Foundation

Introduction à VMware Cloud Foundation

VMware Cloud Foundation (VCF) est une plateforme intégrée qui fournit un ensemble
complet de services de cloud. C'est essentiel pour les architectes de solutions souhaitant
déployer des solutions VMware. La certification 2V0-13-24 valide vos compétences en
VCF, vous plaçant ainsi en tête du marché actuel. Pour plus d'informations sur l'examen, vous
pouvez consulter ce lien : certification 2V0-13-24.

Pourquoi passer l'examen architecte VMware ?

Devenir un architecte VMware peut ouvrir de nombreuses portes dans la carrière IT.
L'examen vous prépare à concevoir et à mettre en œuvre des solutions basées sur VMware.
Avoir cette expertise vous rend très recherché par les entreprises.

Certification 2V0-13-24 : Qu'est-ce que c'est ?

La certification 2V0-13-24 souligne votre compréhension approfondie de VCF. Ce certificat
est souvent requis pour des postes d'architecte ou d'ingénieur cloud. Il est également un
excellent moyen de démontrer votre engagement envers votre développement professionnel.
Découvrez les détails de la certification 2V0-13-24 pour une meilleure préparation.

Formation Cloud Foundation : Comment s'y
préparer ?

Pour réussir l'examen, une formation adéquate est cruciale. Des cours en ligne et des
formations pratiques sont recommandés. Prendre des notes et faire des révisions régulières
peut vraiment faire la différence.

Architecte des solutions VMware : Rôle et
responsabilités

Les architectes des solutions VMware jouent un rôle clé dans la mise en œuvre des
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technologies VMware. Ils doivent être en mesure de gérer des projets complexes, de
concevoir des architectures adaptées aux besoins des clients et de collaborer avec
différentes équipes.

Préparation à l'examen VMware : Meilleures
pratiques

Voici quelques astuces pour bien se préparer :

Lire la documentation officielle de VMware.

Participer à des forums et groupes d'étude.

Prendre des examens blancs pour évaluer vos connaissances.

Conclusion

Passer l'examen 2V0-13-24 peut être un défi, mais avec la bonne préparation, cela en vaut
la peine. La certification vous démarquera dans un marché compétitif et vous permettra
d’avancer dans votre carrière dans le cloud computing.
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Question: 1
During a requirements gathering workshop, several Business and Technical requirements were captured

from the customer. Which requirement is classified as a Technical Requirement?

A. Reduce system processing time for service requests by 25%.

B. The system must support 5,000 concurrent users.

C. Increase customer satisfaction by 15%.

D. Expand market reach to include new geographical regions.

Answer: B
Explanation:

In VMware Cloud Foundation (VCF) architecture, requirements are categorized as Business or Technical

based on their focus. Technical requirements specify measurable system capabilities or constraints,

directly influencing design decisions for infrastructure components like compute, storage, or networking.

Business requirements, conversely, focus on organizational goals or outcomes that IT supports. Option B,

"The system must support 5,000 concurrent users," is a technical requirement because it defines a

specific system capacity metric (concurrent users), which directly impacts scalability and resource

allocation in VCF design, such as the sizing of workload domains or NSX configurations. Option A,

"Reduce system processing time for service requests by 25%," could be technical but is often a derivative

of a business goal (efficiency), making it less explicitly technical in this context. Options C and D, focusing

on customer satisfaction and market reach, are clearly business-oriented, tied to organizational

outcomes rather than system specifications.

Reference: VMware Cloud Foundation 5.2 Architect Study Guide, Chapter 2: Requirements Gathering

and Analysis, Section on Classifying Requirements.
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Question: 2
During a requirement gathering workshop, various Business and Technical requirements were collected

from the customer. Which requirement would be categorized as a Business Requirement?

A. The application should be compatible with Windows, macOS, and Linux operating systems.

B. Decrease processing time for service requests by 30%.

C. The system should support 10,000 concurrent users.

D. Data should be encrypted using AES-256 encryption.

Answer: B
Explanation:

Business requirements in VCF articulate organizational objectives that the solution must enable, often

focusing on efficiency, cost, or service improvements rather than specific technical implementations.

Option B, "Decrease processing time for service requests by 30%," is a business requirement as it targets

an operational efficiency goal that benefits the customer’s service delivery, measurable from a business

perspective rather than dictating how the system achieves it. Options A, C, and D—specifying OS

compatibility, user capacity, and encryption standards—are technical requirements, as they detail system

capabilities or security mechanisms that architects must implement within VCF components like vSphere

or NSX. The distinction hinges on intent: B focuses on outcome (speed), while others define system

properties.

Reference: VMware Cloud Foundation 5.2 Architect Study Guide, Chapter 2: Requirements Classification,

Section on Business vs. Technical Requirements.

Question: 3
An organization is planning to expand their existing VMware Cloud Foundation (VCF) environment to

meet an increased demand for new user-facing applications. The physical host hardware proposed for

the expansion is a different model compared to the existing hosts, although it has been confirmed that

both sets of hardware are compatible. The expansion needs to provide capacity for management tooling

workloads dedicated to the applications, and it has been decided to deploy a new cluster within the

management domain to host the workloads. What should the architect include within the logical design

for this design decision?

A. The design justification stating that the separate cluster provides flexibility for manageability and

connectivity of the workloads
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B. The design assumption stating that the separate cluster will provide complete isolation for lifecycle

management

C. The design implication stating that the management tooling and the VCF management workloads

have different purposes

D. The design qualities affected by the decision listed as Availability and Performance

Answer: A
Explanation:

In VCF, the logical design documents how design decisions align with requirements, often through

justifications, assumptions, or implications. Here, adding a new cluster within the management domain

for dedicated management tooling workloads requires a rationale in the logical design. Option A, a

justification that the separate cluster enhances "flexibility for manageability and connectivity," aligns

with VCF’s principles of workload segregation and operational efficiency. It explains why the decision

was made—improving management tooling’s flexibility—without assuming unstated outcomes (like B’s

"complete isolation," which isn’t supported by the scenario) or merely stating effects (C and D). The

management domain in VCF 5.2 can host additional clusters for such purposes, and this justification ties

directly to the requirement for dedicated capacity.

Reference: VMware Cloud Foundation 5.2 Planning and Preparation Guide, Chapter 4: Logical Design

Considerations, Section on Design Justifications.

Question: 4
An architect is designing a VMware Cloud Foundation (VCF)-based private cloud solution for a customer.

The customer has stated the following requirement:

• All management tooling must be resilient against a single ESXi host failure

When considering the design decisions for VMware Aria Suite components, what should the Architect

document to support the stated requirement?

A. The solution will deploy the VCF Workload domain in a stretched topology across two sites.

B. The solution will deploy three Aria Automation appliances in a clustered topology.

C. The solution will deploy Aria Suite Lifecycle in a clustered topology.

D. The solution will deploy an external load balancer for Aria Operations Cloud Proxies.

Answer: B
Explanation:
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Resilience against a single ESXi host failure requires high availability (HA) for management components

in VCF. VMware Aria Suite, including Aria Automation, supports HA via clustering. Option B, deploying

"three Aria Automation appliances in a clustered topology," ensures that if one host fails, the remaining

two can maintain service, meeting the requirement directly. A cluster of three nodes is the minimum for

HA in Aria Automation, providing fault tolerance within a VCF management domain. Option A (stretched

workload domain) is unrelated to management tooling HA, C (Aria Suite Lifecycle clustering) isn’t a

standard HA feature for that component, and D (load balancer for Operations proxies) addresses a

different component and purpose.

Reference: VMware Aria Automation 8.10 Installation Guide, Section on High Availability Configuration;

VMware Cloud Foundation 5.2 Architecture and Deployment Guide, Management Domain HA.

Question: 5
A customer has a requirement to improve bandwidth and reliability for traffic that is routed through the

NSX Edges in VMware Cloud Foundation. What should the architect recommend satisfying this

requirement?

A. Configure a Load balanced Group for NSX Edges

B. Configure a TEP Group for NSX Edges

C. Configure a TEP Independent Group for NSX Edges

D. Configure a LAG Group for NSX Edges

Answer: D
Explanation:

In VCF, NSX Edges handle north-south traffic, and improving bandwidth and reliability involves

optimizing their network connectivity. Option D, "Configure a LAG Group for NSX Edges," uses Link

Aggregation Groups (LAG) to bundle multiple physical links, increasing bandwidth and providing

redundancy via failover if a link fails. This aligns with NSX-T 3.2 capabilities in VCF 5.2 for edge nodes,

directly addressing the requirement. Option A (load balancing) could distribute traffic but doesn’t

inherently improve physical link reliability, while B and C (TEP groups) relate to host-level Tunnel

Endpoints, not edge traffic. LAG is a standard NSX recommendation for such scenarios.

Reference: NSX-T 3.2 Administration Guide (included in VCF 5.2), Section on Edge Networking and Link

Aggregation; VMware Cloud Foundation 5.2 Networking Guide.
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